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1.

(@) Write in figures the number

(i) eleven thousand and nine

ARSWELT isi6550150mr smransonswsnessansarasssssseserenesiis ssess (1)
(i) which is 10 less than 903
ANSWET: 1.viiiiiinsanrennarssrianssnserasesssessssensessnsesssmanens (1)
(iif) which is half of 260
ANSWET ..o, (1)
(b) Kelly arranges some number cards to make the number 2651 as shown.
26|51
() What is the value of the 2 in this number?
ANSWEE: ...vcissinaeicesrassariossaissssssssisoansanessnnensnsane (1)
(i) Rearrange the 4 cards to make the smallest number possible.
AnSWer: ............................ (1)
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2. Here is the start of a number pattern:

1 4 7 10 13 16

(i) From the numbers in the list above, write down

(a) a factor of 8

ANSWET: eeiverrrrrrrenrenreseeemermeerssrmsmssssnraamaasessineniin (1)
(b) the product of 2 and 5

ARISWBLS ovoreerssssiissisionisesssaassesssassasissssnassmserornnass (1)
(c) a prime number

ANSWEL: .oiiiviiieeeeeriereessasssissssesesssssssssssssssssnsssnes (1)

(i) Write down the next 2 numbers in the pattern.

ANSWEL: usissersisssiisssiosnans 1 (o (e (2)

(iii) What is the largest number in the pattern which is less than 407

T L e e Aty ew e e sa e e e (2)
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3. Alex enjoys taking photographs.
He takes 86 photographs on Monday and 58 photographs on Tuesday.

(i) How many photographs does he take altogether?

Alex puts his photographs in an album.
6 photographs fit on each page.

(i) How many pages does he use?

200 3, (2)

An enlargement costs £2.65
Alex buys 7 enlargements.

(iii) (@) How much do his enlargements cost in total?

ANSWEI £ oo (2)
Alex pays with a £20 note.
(b) How much change does he get?

AABWEFE B ysuismonsns sonssssssstsitmnes sesmsesssmmesmnecsrasans (2)
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4. 3 lines of symmetry have been drawn on this equilateral triangle, dividing it into
sections. One section has been shaded.

(i) Shade in a further % of the triangle. (1)

(i) What fraction of the triangle is now not shaded?
Give your answer in its simplest form.

ANSWET: .eiiiiiiiiiee et e e s e s ere e e (1)

5. 18.7 18.67 20.3 20.27 18.706

(i) Write down the largest number from the list above.

AANIEWEITS 5o svnimaios ssaa s aiehi KA S SEFVEORITRISRE (1)

(i) Write down the smallest number from the list above.

ANSWEL. 1iiiiiiiiiiii ettt (1)

(ii) Calculate the difference between the largest and the smallest numbers in the list.

C T R R e e e (2)
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6. This pictogram shows how many people were treated for sports injuries at a clinic last
week.

o | EII
[:::]represents
il L L L 1L
v | (T
Thursday lﬂl:::l I:II:I

Friday

(i) How many people were treated on Monday?

(i) How many people does ﬂ represent?

BBWES teoeietmyed i B i s Ao e S e A R R ST AS A (1)
(iiiy Draw the symbol which would be used to represent 1 person.
3T o R e (1)

9 people were treated on Friday.
(iv) Add this information to the pictogram. (1)

(v) Calculate the total number of people who were treated last week.
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(vi) Calculate the mean number of people treated each day.

BNV i se s s s e e R e ey a (2)

7. 6 dogs were weighed, and then one year later they were weighed again.
A weight gain is shown as a positive number and a loss is shown as a negative number.
For example —3 means that the dog lost 3 kilograms in weight.

dog name weight change, in kg
Rex +1
Sam -2
Troy +2
Walker 0
Yogi -3
Zig -1

(i) How many dogs stayed the same weight?

ANSWEN: .iieeiieeee et eeeeees e e e aesanaaeaeenenssseneananas (1)

(i) Which dog gained the most weight?

ANISWET: oot eeeeieeeeeeeansreeeesssnaseerasasaeseerennen (1)

(i) Which dog lost more weight than Sam?

AANBWEY: ...oeesos s sresisa s ivsas s NS S SR B a s s (1)
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8. 3 points have been plotted and joined on the centimetre grid below.

Y

0 1 2 3 4 5 6 7 8 9 10 11X

(i) Reflect the pattern in the dashed line to complete the shape.
Label the shape A. (1)

(i) Write down the special name of shape A.

ANBWOL i nar o s s s (1)

(iii) What is the area of shape A?

ANSWET: 1oviieeieiies it seeeeen s cm®  (2)

(iv) Translate shape A 4 squares right and 2 squares up.
Label your shape B. 2)

(v) Rotate shape A 180° about the point (3, 3).
Label your shape C. (2)
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9. (a) Choose one of the following units to complete each statement below.

km m cm mm ¢ mé
e Mandy's thumb is approximately 50 ................... long.
e Aglass could contain 250 ..........ccceeue of orange juice.
e Ahousecouldbe 7.5 .......c.cooeunene tall. (3)

(b) Write down, in grams, the masses represented by the arrows on these scales.

() i

I f t i f t } i } ‘ } i
0 10 20 30
grams
ANSWEL oeiieicieeaiaeeeeeeieesanniaaasaeaesesaeasaananannns g (1)

(ii) 3

lllllllllllllllllllll | ] | T — I — [l —1

|_| T LI l T T L ] T T T I T T T 1 I : 1 i T

1
150 175 200 225 250 275 300 325

grams
ATTIEWEL™ ... .onransnansisssvsisssosigisisissspssaissmmiassmaassnsa g (1)
(iii) ¥
ANSWEL: eeeeeeieeeeeereeeeannnnaeessesessesnassssensrsasas g (2
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10. Mark and Sarah each has a bag of coloured counters.
These pie charts show the proportion of each colour in their bags.

Mark's Sarah's

bag bag
red

green

blue

(i) What percentage of Mark’s counters are blue?

ANSWET: L.oiiiiiiiieiee e % (1)

Mark has 40 counters in his bag.

(i) How many of his counters are not blue?

ATBWOR wivsrscinwentsssssisissssisisass s sssss sismisss fmmmar (2)

3 of Sarah’s counters are red, and the rest are green or blue.

(ili) Given that Sarah has 12 red counters, how many counters are there altogether in
her bag?

ANSWET: ..ottt (1)

(iv) Sarah has twice as many green counters as blue ones.
How many blue counters does she have?

ANBWIEY: \vuvavsmninsiovisesoses cisassssrassaaisissmm e sidssoms (2)

They each pick one counter at random from their own bag.

(v) Who is more likely to pick a green counter?

ANEWET wavsssssnorssansvsssmesynsssisysmesssans st iitonss (1)
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11. This small box measures 2 cm by 2 cm by 3 cm.

L 7 7

(i) Calculate the volume of the box.

(i) On the centimetre squared grid below, draw a net for the box.
(The shaded face has already been drawn for you.)

(3)
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12. Here is a graph to convert between gallons and litres:

A
25 i‘ (] T
- ] | |
Ll ' H ! ‘ . H
e e
SEER A -!--H pEEE=aaERAEcadsyy” sEdRRaaR
| . ’ B I! SRR [ ‘
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it |
HHH HHEHHEH N
Bee e :
0 1 2 3 4 5
gallons
(i) Showing clearly how you take your readings, use your graph to find
(a) how many litres are equivalent to 4 gallons
ANSWET: i eesenree e e e arae e e eesnaee e litres
(b) how many litres are equivalent to 1.8 gallons
ANSWEL: .ottt litres
(c) how many gallons are equivalent to 10 litres
ANSWET: ..., gallons
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(i) One day, Julie’s Juice Bar sells 1000 litres of orange juice.

(a) Use your answer to part (i) (c) to write 1000 litres as gallons.

BRSWAT; irsesscmmmacismanmisnms s gallons (2)

It takes 13 oranges to make 1 litre of juice.

(b) How many oranges are needed to make 25 litres of juice?

ATTBWETS coveraesrmrmssansansensoasssammsmnens sl U ESSETEEEHOTFHITEHS (2)

13. Mr Prime has these numbered discs face down on a table:

OEOEOWEOHEOOE

He turns one over at random.
On the line below, mark the following probabilities with the letters shown:

A the number on his disc is a square number
B the number on his disc is a prime number

C the number on his disc is a multiple of 12

even certain
chance

impossible
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14. (a) The number machine below changes numbers according to the rule multiply by 2 and
then subtract 4

input —— X2 |[——>| —4 ——> output

(i) Write the missing input and output numbers for this machine.

input X2 then —4 output
Example 6 > 8
8 >

............... > 22
............... > 0
(4)
(i) There is one number which does not change when you put it in the number
machine.
What is the number?
IS 2555505585380 5983 04 644 s 0n nansonsonsessansaransarssansranss (2)
(b) I think of a number, add 1 and then divide by 2
The resultis 7
What is the number which | am thinking of?
ANBWOIL: sisiitissssessnserronesrresssssssmnsrssassnssasansasssssssns (2)
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15. This is a sketch showing the position of three towns, Addbridge (A), Sumville (S) and
Totalton (T).

/ T N not to scale
7 km

/ 45°

A<«—11 km——S

(i) Using a scale of 1 centimetre to represent 1 kilometre, how many centimetres
would represent 11 kilometres?

(i) Draw accurately the triangle AST, using a scale of 1 centimetre to represent
1 kilometre.

(The point A is already drawn for you.)

A
(3)
(iii) Measure and write down the obtuse angle at T.
ANSWET: civeeververrerseersasssssinansessessensnsssssssesisiines ’ (1)
(iv) Use a compass direction to complete the sentence.
Addbridge iS ...oooveimrrerrrmeieciisnnni of Totalton. (1)
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16. (a) Find the median and mode of these numbers:

6 2 5 13 5 10 g

Answer: median iS .....ooovveeeeeooee

MOAE IS ..ooveieiiieiieccc (2)

(b) Three children have a median age of 10 and the range of their ages is 5

(i) What is their median age exactly 1 year later?

ARSWETT ssosssvnizsinsirsssraaneronsssssssmmeassnrvaasmesiiaess (1)

(¢) Two numbers have a mean of 12 and a range of 6
What are the two numbers?

(d) A set of five numbers has a mean of 7, a median of 6 and a mode of 5

(i) Write down a possible set of five numbers.

Answer: ........ L eeeeaens ) ereaenns Vs N— (3)

(i) Write down another possible set of five numbers.

(Total marks: 100)
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